1;&) (o) -3 .,
/4(64)= (_a;?) IA(e.,_)=( o } , /4(65)2 ~ay

Sq o
-~ A = =%} (8] ~Qa

iat! 27 o
23 2) -
B= (R, Bie) 5‘35)):(51,£z,ﬂs)=2'
23 «) - 2 2, 2.4 2,4
= 42-; *e -
- L4 - (@Z)"’ ”-(M, O
ik 830, 2,8 o2
2% d)

05 O —a1

0= QA =(4 szB)(o - a; al)

=(kcy -Byas | Ba -8 a Loa -2 a,)

1 72

24 a) @au) = limn T h = ol Spac (4, X,x7 ) = 3

§i A =( ZSJ
o 3
o0 o

%8



&

c <
A L |
g = 4y
r a 4 0( ,(L b d(;
[ = a1 AL a1 A
o) 2a Fup Tlf’s 4+7x+7_ao(2'+c,a6
-_% T""’, TX"X""‘) TXZ= )6)'-1—)_x-|-»f=(,v-mlL
Tx?= 3+ 327+ 3x+ 4 = (x+4)3 ]
25) 4 12
M=<a . 98, uﬁ-zq):u@z
3 12

o
12
g

oQ W

%

/4£-=(2>=Q£5 - o
3 -2 A%=< o)
2

26y [B'4eB) = w (44)B- 8B - L

(4B)(B'A')= A (BR)A" = 44" = a
g4 = an)’

£)
— Vi <a £- <a( —,6-)
M B aAad-% < o - a
_ A c L -~ B« o L 4/L l/
oud ~ L o ~Bud+adt
<)
1 60
[1— "% ‘ 0 g_4= 04 “ 4'-1‘ gg4o D-'l_ Lo3%¢  Sym
o’g//l_’ ] ’Vq/bo ) 3882) P



